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Section 1 - General Knowledge

1) Which of the following is TRUE about the process 1) ATZeTTe® T UTHAT % T | (Ao ered & & S 9T 9ar
of Mitosis? 7

A) Number of chromosomes remains same in A) HTZIHH & FIHIAT FT HEIT THH EAT 5

Mitosis B) ATEZITE® H AT THT FT IS 21T &
B) Sexual type of reproduction occurs in Mitosis C) ATz I H | FIH FHA BT £

C) Chromosome pairing occurs in Mitosis D) ST IOl § ATZS T ae 2rar 2

D) Mitosis takes place in Germ cells

2) Who among the following is known as the 'Father 2) st & & o 1 e g e % Ferar 57

of Indian Constitution'? H ST SATAT 572

A) Dr. Sachchidananda Sinha A) =t. afgare T
B) Sarvepalli RadhaKrishnan B) HeATwAT TTLTHEITT
C) Dr. B.R. Ambedkar C) =1. 1. ue. s =T
D) Rajendra Prasad D) TTeivg T€ T

3) The 'Objective Resolution' formed the basis of the 3) 'IZeT TFeT T ATTATT TSTHITAH STAEAT F ATLTT T
Indian political system. It was introduced in the fwTor =T 2| =& TfareT™ Tar § foerer g et BT
Constituent Assembly by q77?

A) Rajendra Prasad A) TTSvE TETE

B) B. R. Ambedkar B) &. . sFaEHT

)
C) Lal Bahadur Shastri C) =TT FETg7 ATt
)

D) Jawaharlal Nehru D EEIFCIKEFES
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4) A start-up incubation centre called the Centre for 4) Hz¥ T TeTIAI T AL M2 1w U 7«11 (CEOL)
Entrepreneurship  Opportunities and  Learning g SITH aTel T2 Te- 0 S 21T He LT IHTeA ATLA T T

(CEOL) was inaugurated by Nirmala Sitaraman, the =t R ffama= g B v o= frar T o2
Defence Minister of India in

A) Mangalore, Karnataka A) AT, FATEH
B) Nagpur, Maharashtra B) AT, AETIE
C) Bhopal, Madhya Pradesh C) 9T, TeT TZ9T
D) Surat, Gujarat D) =, e

5) Gir forest national park is located in which of the 5) T awasiia VT ATLA AT =TT | o T

following states of India? | o 3?
A) Guijarat A) TTSTT
B) Kerala B) F¥eT
C) Assam C) a9
D) Meghalaya D) =TT

6) Mahatma Gandhi returned to India in the year 6)aW 1915 ¥ WETeHT T Fteraa & & ey Zor® AT

1915, from which country among the following? T Al A?

A) Japan INELEIG]

B) South America B) =feror srteaT
C) Russia C)=+

D) South Africa D) =feror shieeT
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7) According to National Rainfed Area Authority 2009, 7) ST ¥e TRATAATET 2009 F AT, FHeriT
which among the following meteorological sub- ® & FI =T HHH ST IAAARTH =T AT T TgT T

division has very rare frequency of deficient rainfall g ST 15 a9 | TF FTC &7 THAT 57
which may happen once in 15 years?

A) Assam A) IEH

B) Jammu and Kashmir B) ST¥ ST FIHIT
C) Gujarat C) Teraa

D) Western Rajasthan D) ufsret T

8) Which of the following is INCORRECT about fungi? 8) Fa & &% § [Rsferiad & & 4T Tad 57

A) It grows best in acidic environment A) TE FEAT ATATALO § T A=3T 2T 5

B) Growth rate of fungi is faster than bacteria B) Fa® ®if i ax IRIATH AT &Il &

C) Fungi lacks chloroplast C) FaF H FALATEE Hl FHI BIAT 5

D) It can tolerate high sugar concentration and dry D) Tg 37 2T HTEAT 3T< oF AT TZA FLTFA 2
condition

9) Who among the following freedom fighters shot 9) fRrferaa Taa=aT A=At & & e ffea awa %
and killed a police officer named John Saunders, in @TEIT § ST TieeH ATHS UF o€ ATTFT 1 A

Lahore, British India? HIHL gAT FT af A2

A) Rajendra Lahiri and Chandra Shekhar Azad A) TTSE AT 3T FEWET AT

B) Sachindranath Sanyal and Khudi Ram Bose B) |f=aaTe ATeAT ¥ gaT | A

C) Ram Prasad Bismil and Ashfaq Ullah Khan C) T w\TE fafeuer 3 ersre 3oerr @
D) Bhagat Singh and Shivaram Rajguru D) s fig & foraaw Tene
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10) Which award is conferred annually by the 10) ¥ |1l JAXTET WiZAT foa® & &\ 9 WA 8q a1
President of India to eminent or outstanding 3T TEATAT AT FSAT T SATEAT 1 TLT F TP

institutions or organizations and individuals on the FTT Sfaay foe qoee & FFaTHA FFaT STAT 372
occasion of International Women’s Day every year?

A) Nari Shakti Puraskar A) T oT=F TEFTT

B) Stree Ratna Puraskar B) &t @ &1

C) Durga Janani Puraskar C) T AT TTEHTT
)

D) Janani Samman Puraskar D) ST HFTH TER T
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Section 2 - Logical Reasoning

11) What is the missing term in the given series? 11) & T FFAT | SAACAT F=AT FT 872

The series is 0, 121, 242, ?, 484, 605 W% 0, 121, 242, ?, 484, 605
A) 363 A) 363

B) 443 B) 443

C) 253 C) 253

D) 243 D) 243

12) What is the next term in the given series? 12) =T = JEAT | AT FEAT FT 272
The series is 17, 68, 153, 272, ? %PQFIT% 17, 68, 153, 272, ?

A) 348 A) 348

B) 369 B) 369

C) 449 C) 449

D) 425 D) 425

13) Select the option that will make the second pair 13) S® fa&ea T =99 F2 ST O ST T TgeAT SIS

analogous to the first pair. F TAHET AT

Alleppey coir : Kerala :: Salem Silk : ? TETOdT FHIAT : HiTA 2 TAH L9 : ?
A) Tamil Nadu A) FEEATE

B) Himachal Pradesh B) fBH™=w yeer

C) Karnataka C) #H1=®

D) Orissa D) 3|
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14) Identify the next figure in the sequence. 14) SOt § ST ATHI T TZ AT F7|
i i
<= <=
A) A)
—— —-
B) B)
- )
C) C)

g g

15) The average of six numbers is 30. If 'a'is added 15) B H&aATsH F7 sirad 30 &1 T TAF HEATH 'a’ ST

to each number, then the average becomes 36. The STAT g, AT 3T 36 ZT ATAT 21 'a’ FT ATA FATE?
value of 'a' is

A) 6 A) 6
B) 4 B) 4
C) 10 C) 10
D) 9 D) 9

16) Three among the four pairs belong to the same 16) =TT FET & & H9 UF &1 T0Z F 3| TR o SHTT F47

group. The odd one out is are?

A) PINK : NKIP A) PINK : NKIP
B) JOKE : KEOJ B) JOKE : KEOJ
C) NICK : CKIN C) NICK : CKIN
D) CAKE : EKCA D) CAKE : EKCA
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17) Pointing to a lady in the photograph, Sonia said, 17) = & % HT&aT &1 AT Z2MT Fd g0 AAT o Fal,
"She is my paternal grandmother’'s only daughter-in- "a2 31 ZT&T &1 THATAT ag 8"l FAT 39 Aigen & &

law”. How is Sonia related to that lady? T HATT 52
A) Aunt A) FT=T

B) Father B) foaT

C) Daughter C) =t

D) Mother D) |TaT

18) Four coconuts and three watermelons cost Z 110 18) =TT ATRAS 3T A qLEST At FHA L 110 § AT
but five watermelons and two coconuts cost Z 160. = AT &A1Y &T ATRAST T H 18T T 160 T 71T LI

Three watermelons cost FHT T
A) 70 A) % 70
B) Z 80 B) % 80
C) Z 60 C) % 60
D) Z 90 D) Z 90

19) The sum of interior angles of a regular polygon is 19) TRV FgH F AATLF HIUM w1 TRT 3600
3600 degrees. The number of sides of the polygon is =3 &1 FgHsT T et T H&aT i 572

A) 10 A) 10
B) 20 B) 20
C) 11 C) 11
D)

22 D) 22
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20) Select the option that will make the second pair 20) 3% fa=eT T = F¥ ST T AT T TEAT TIT
analogous to the first pair. F AHET AT

Gregor Mendel : Biology :: Antoine Lavoisier : ? T H2S : ST Uered aaiza? ; ?
A) Anthropology

A) HTHE 9T
B) Chemistry B) AT o
C) Physics C) witfa= omer
D) Sociology

D) FHTST 9T
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Section 3 - General English and Comprehension

21) ldentify the Antonym for the word - Resolve 24) Ildentify the part of the sentence that has an

A) Indecisiveness error:
B) Absolution The dog barks at the thief when he had jumped
) over the fence.
C) Pretension
A) over the fence
D) Problem

)
B) The dog barks
C) at the thief

)

D) when he had jumped
22) ldentify the synonym for the word - Willful

A) Stubborn

B) Flexible

C) Willing 25) Choose the correct word substitute for the
following sentence:

D) Wise

Excessively concerned with minor details or
rules

A) Calculative
23) Choose the meaning of the italicized idiom

B) Pedantic
used in the given sentence. C) Phony
The examiner examined his report with @ fine D) Pediatric

foothed combbefore giving him the grade.

A) a lot of suspicion

B) alot of joy

C) complete respect
)

D) absolute care
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Section 4 - General Hindi

26) Tr=F =11 it g Fifor -
21— TEHT HI AT

A) ==
S EELEIEED
C) T=vaT=
D) fFreagam==

28) ‘g¥e FHfeaa § 7 569 orse %71 9Figar=r

29) Tt T 958 T FHET: = foerw g -
A) T, e

B) sreama, et

C) ST, T

) T, faega

O

30) ¥ 39 E ATE &, FR&TT | FTT TETHT AT
T TRT & S T 2 9T | ST B FT T FT
2T 2

FATHT | T 31T % forT &t AT 21 -

A) H FeFT TRt § e

B) fa= g+t T =T

C) T -FFL FaH T

D) AT =T
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Section 5 - Basic knowledge of Computer

31) In MS Word 2016, under which of the following 31) MS a€ 2016 ®, fA=feriaa & & e faw e H,
ribbon items is "Header and Footer" option available? ‘=¥ U2 %e¥” fa#eq Wis[E AT 2?2

A) Insert A) e
B) Tools B) &¥&
C) View C) =g

D) Format D) W<

32) Which input device converts analog information 32) 19 AT TAYe RATZH TATART =T &I (T oea =T H
into digital form and can be used for doing fine works ARETAT FXAT & STEHT ITART FTET AT ZHT | AT AT

of drawing and image manipulation? FEATH FIA STE ATLE FTH % (o0 67T ST TFAT 572

A) Microphone

) A) TTZHTRA
B) Bar Code Reader B) AT #I fizT
C) Digitizer C) feferzrzse
D) Graphic Plotter D) AT wAie<

33) Printing speed of laser printers is measuredin  33) &SI¥ e T FUTEITTI FT 1A T THTS F9T AT 272

A) Lines per page A) g gt 98
B) Characters per hour B) =97 Ui HeT
C) Characters per line C) aur uf gf~
D) Pages per minute D) 98 ufa foee

34) The technology of scanning that reads the check
boxes contained inside a predefined spaceis

34) T FT AHATHT (SHIATST) T TEAATT T |
T =F AT T UBAT 2, FIT FZATAT 372

A) BCR A) BCR
B) OCR B) OCR
C) OMR C) OMR
D) MICR

D) MICR
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35) Which of the following OSI layers is meant for 35) fFsferaa & & #19 #t OS| T2a e s+ forw

packet routing? grar 32

A) Transport Layer A) TTEATE TT
B) Network Layer B) Sea® wd
C) Presentation Layer C) JSieor we T
D) Application Layer D) ufeerehot™ 92T

36) Which of the following options acts as a barrier 36) /7% & & ®i AT ferseq et UHaT dea+ (LAN) 3T

between Local Area Network (LAN) and the Internet? =e¥de F &= SNITF T F FTT FLAT 7
A) SQL Injection

A) THFIT T
B) Hashing B) afarT
C) Firewall C) wraTaie
D) Cross Server Scripting D) e 9% & teeT

37) In MS Excel 2016, what is the shortcut key to 37) MS w&a= 2016 ¥, AU TTAANT J(FT GIoM

launch the Open dialog box? T atee ' FTE?
A) Alt + F12 A) Alt + F12

B) Ctrl + F12 B) Ctrl + F12

C) Shift + F12 C) Shift + F12

D) F12 D) F12

38) Which of the following applications belongs to MS 38) Z7# & 17 AT UftershorT MS St 7 22

Office?

A) Word A) T2

B) Photoshop B) wrererta
C) Gmail C) st
D) Chrome D) %I
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39) Among the following options, the peripheral 39) Frferaa faFedi & & UFeer fRaTed FT Ig=T F4

deviceis

A) CPU A) CPU
B) Printer B) fex
C) ALU C) ALU
D) Spreadsheet D) =redfie

40) Which of the following hardware devices 40) fF=feraa & & FI9 A7 gre =< RaTeH, THAT T
connects a personal computer to a dial-up internet FT TTAT-AT T2TAE FAFAT H ATSATZ?

connection?

A) Repeater A) frdiex
B) Hub B) &

C) Bridge C)fos
D) Modem D) Ai=w

41) What is the IEEE standard for Gigabit Ethernet?  41) sfivTraTze $a%+e ¥ T IEEE ATH* #1272

A) IEEE 802.3gb A) IEEE 802.3gb
B) IEEE 802.3u B) IEEE 802.3u
C) [EEE 802.3g C) IEEE 802.3g
D) IEEE 802.3z

D) IEEE 802.3z

42) Which part of the email address 42)=HaUZH FAH 'someone@example.com' & &= AT

'someone@example.com' is called the domain TBEATEHT 48 FgT ATAM?

name?

A @ A @

B) someone B) someone
C) example C) example
D) .com

D) .com
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43) Which type of virus attaches with EXE files and 43) T Y&T¥ #T a/@7®@ EXE W12l & AT HTd 319
the resulting infected EXE file attacks other EXE files 3 Z#Fa< AT HF WA F¥ adT g ¥ T7haee EXE HT=a

and infects them?
A) Parasitic virus
B) Boot Sector Virus
C) Stealth Virus
)

D) Memory Resident Virus

44) We can close MS Word application by:

A) Choosing File menu and then Close submenu

B) Clicking X button on Status bar

FT EXE W=l 9% §HET F¥ 3vg A A 0T FLaara?
A) TerfErfes am

B) = HFT ATIH
C) I aTITH
D) AHT IRt araed

44) zw etertey e faea i gega MS a2 Uieasem
T ATFLAFA 2?2

A) FTET A | STTHL FATST GAHL FT AT FLF

B) TeH AT H His[g X Fe FI fa1+ Feeh

C) Alt+F3 77

)
)

C) Pressing Alt+F3
)

D) Choosing File menu and then Exit submenu

D) TT= A | SITHY UTaTe TaTa] 1 997 F3

45) Which of the following is/are TRUE regarding 45) FITHeT USH so1% & Tael | [HH{o1ad | & 47 57
classless address blocks? g7

[IThe number of addresses in a block must be a
power of 2

) =% & 97 T AT 2 F ATEIF AT ATMRT
ll) The addresses in a block must be contiguous, one 1) =% ® 99 TF F & UF @EC 2 AT,
after another. ) =T IAT, T AT HT HEEAT T G €T F AT
ll) The first address must be evenly divisible by the ZMT=TRT

number of addresses

A) land Il A) S I
B) Il and Il B) I, Il s I
C) Il and Il C) Il S i
D) land Il D) I i |l
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46) In MS Word, what is a hanging indentation? 46) MS 9= ¥, R s2ea= FT 2?2
A) The second and all the following lines of a A) TRRITs # O ¥ I+ qTE & AT afFam &t
paragraph has more indentation value than the TS A TEAT UTF & ATAF BT &

first line B) ST Y gzelt uftF FT & s Al ¥ &7 aw
B) The first line of the paragraph is center aligned TS AT 8

and the rest is justified C) s i ey 9= ;b-rg'r%:rr IR - T
C) The right side of the last line of the paragraph is gars

away from the centre D) SRTIT T &t IR AT ST 1 AT i agett uih
D) All the lines of a paragraph are indented more T aferFiZee e g
than the last and first line of the paragraph

47)  Which among the following input 47) ReIET TAYe IUFION | & F6H UF ST 21 8
devices consists ofa stick which pivots on abase and ST TF & 9% THAT & ST HGIL FT THF FI07 AT f3em

reports its angle or direction to the CPU? i fare F 87
A) Microphone A) ATSHTRAT
B) Light pen B) @z=

C) Keyboard C) #r=re

D) Joystick D) Stafie®

48) In MS Excel 2016, what is the result of the 48) MS T#= 2016 ¥, fF=ferfad wieeT 1 T Ao

following formula? dqATE?

=MAX(10, 20, 30, 40, 50) =MAX(10, 20, 30, 40, 50)
A) 10 A) 10

B) 40 B) 40

C) 50 C) 50

D) 30 D) 30
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49) The arrow keys, Home Key, End Key, PageUp 49) =¥ FIa1E | UT #IsT, B9 #I, UT #T, U7 7T A
and PageDown keys in a computer keyboard are s ST3H #isT T fohe A0t § T@T 57

classified as

A) Function keys A) FFIT T

B) Special purpose keys B) Terer TuH FIS
C) Standard keys C) ¥ s

D) Navigation keys D EIELEGEIS

50) Which of the following is/are function of MS Word 50) T & F17 AT T MS a2 | aa< F1/% Tgeaqor

Software? T B/27
|. Creating, editing, saving and printing documents . EfFAe it AT FAT , TfRe FAT, TF FAT AT
Il. Copying, pasting, moving and deleting text withina fSi= #%AT
document Il. ST ¥ ET T T FIUT FIAT, e FIAT, qT AT
lll. Creating and editing tables eefie AT
Il S =t =T S uie e F T
A) 1, Il and Il A) I, 11 Sl
B) Il only B) F==t lll
C) Il only C) Fa |l
D) | only D) F=et |
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Section 6 - Electrical Engineering

51) Which is the INCORRECT statement? 51) F= & & FI9 A7 FI9 TAT 3?2

Unlike shell type transfomers, core type transformers 917 T&T% & TAHHT F 00T, FIT T F SE@HRHET T
have FATEATR?

A) a single magnetic circuit A) TF FF1T gfe

B) less losses B) ®9 TFATH

C) cylindrical winding or concentric winding C) STATHIT FAT AT Hhx F2ofl

D) two limbs D EEERE]

52) The concentration of holes in an n-type 52) n-aTzw e ¥ fogt #1 Arzar Fetera G
semiconductor is given by the following relationship #=rer g1 &1 JTAT 22

(where n; = concentration of electrons in intrinsic (SET n = ATE FATAT H Terare il 0 q1zaT, Np =

semiconductor, Np = Concentration of donor atoms, ZTAT G¥HTIEN T TTEAT, Na = ST THTIR T qIE4T)
Na = Concentration of acceptor atoms)

A) Np A) Np

B) n? B) n2

C) n@No C) n2/No

D) ni2/Na D) n2/Na

53) Linear Variable Differential Transformer (LVDT)is 53) =fi+=< afuaer fewifomer s (LVDT) #
used for measuring displacement. The principle of FTT AEATIA FT ATI= % forw FFATSITAT 8| LVDT F %71
working of LVDT is FA FT AT FTATE?

A) Magnetic reluctance A) FUTeT e

B) Permanence B) 9¥HTA

C) Mutual induction C) F=T T2

D) Self induction D) &% TTHAT
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54) The maximum demand of a generating station is 54) 9a¥ ¥ 9T ATeFAH 7HT 100 MW 2| FfT FTo+
100 MW. If the annual load factor is 40%, what will == ¥&eT 40% 2, AT a9 |/ IcqTad T Iofl (<) 7T

be the total number of units generated in a year? Zrfi? (U% a9 ¥ 365 fam #1H)
(Considering 365 days in a year)

A) 35040 x 10® MWh
B) 1460 x 10 sMWh
C) 146 x 105 kWh

) A) 35040 x 103 MWh
) B) 1460 x 105 MWh
) C) 146 x 105 kWh

)

D) 3504 x 105 kWh D) 3504 x 10° kWh

55) FACTS based controlling devices are in use in the 55) Tfa¥ el @aa & & § FACTS e Aot

field of power electronics. FACTS stands for SYFIU ITARTH E| FACTS T qUIET T 8?
A) Finite air cooled transmission system A) FTEATZE TIT TR e forew

B) Flexible air cooled transmission system B) FATHIae U %o A9 (e H

C) Flexible alternating current transmission system  C) Wel{aaer Aiee e Fie i HeE freeq
D) Finite alternating current transmission system D) FIEATzE AT AT Fie Zra e g

56) In Delta Modulation, the slope overload distortion 56) FweT TSI |, EATT AGTATE (=0T 1 FoFe 1T

can be minimised by FH AT ST AT 8?

A) Decreasing the step size A) T TS 2T FL

)
B) keeping the step size constant B) ®q AT Iz W@ #%
C) keeping the step size zero C) =T |1 97 T ¥

)

D) Increasing the step size D) ¥q | TET FT
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57) The complex power absorbed by Z in the 57) = faw 7w AC @fhe & Z 5T Sr=on o Sfeet orf=h

following AC circuit given below is the product of:

i(7)

A) phasor current and conjugate of phasor voltage
B) phasor voltage and phasor current

)
)

C) phasor voltage and line voltage
)

D) phasor voltage and conjugate of phasor current

58) What is the functionality of the program given

below?
MOV A, #0
MOV R2, #10
AGAIN: ADD A, #03
DJNZR2, AGAIN
MOV RS, A

A) It clears the accumulator and then add value 3 to

the accumulator 10 times

B) It adds the content of R2 and A and then store the

result in accumulator
C) It decrements the register R2 10 times and then

store value 3 to the accumulator

D) It clears the accumulator and then add value 13
to the accumulator 10 times

B ERETEARIVE ki kv
(1)

v(t) k4

A) FRTT F¥weE 3T (FTT FAroes T HIEHT)

B) TSTY AToes ST oL Fiee

C) %Y FTees AT AT qIoes

D) ST ATeesT &Y (FeTe FL7e FT GLTHT)

58) {1 FET T T ¥ FTHATAT (FHATET) FAT 52

MOV A, #0

MOV R2, #10
ADD A, #03
DJNZ R2, AGAIN
MOV RS, A

AGAIN:

A) TZ FFIHACT T (FTI FAT § 37 T AR e §
AT 3 FT 10 SESEATE

B) 78 R 3T A % < FI SIEAT & ¥ [T qfoms =i
FFHATTH L FLAT S

C) 7 T R, & 10 AT HETAT 2 AT T S eies
A3 HT L FAT S

D) 7E AR FT T #7247 & ofie o e &
AT 13T 10 I ATZATE
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59) Which of the following allows bidirectional current 59) fer & & Fir= AT fafwer fE=r ware 1 sqAfT 2a1 82

flow?

A) IGBT A) IGBT

B) Bipolar junction transistor (BJT) B) sT=deT st Ziteree< (BJT)
C) TRIAC C) TRIAC

D) Gate turn-off thyristor (GTO) D) e 2 AT AT (GTO)

60)  Transformers  are  devices  which 60) ST UH ITFII BT & ST UF e & AL H
transform electrical energy from one electrical circuit o St 1 aiA i #3292 | F 2t Afhe Th gEe |
to another. These two circuits are electrically isolated e =7 & 7 & | g e & e

from each other. Transformers are:

A) Rotating devices working on the principle of A) TEEF o F Az W W A

mutual induction AT O I

B) Static devices working on the principle of mutual B) IEERE ST F i o AT F A wfew
induction fear=w

C) Rotating devices working on the principle of self C) ¥-57T F o 9% FTH F7A a1 O TTRT
induction D) F=-307 & rgTd o% FTH F3 a1t e fes Rarea

D) Static devices working on the principle of self
induction

61) The range of surge impedance for an overhead 61) JATAYEE TTATHAT AT *F o0 FEAT THA=TAT (A7

transmission line is: THEH) FTHATE:
A) 1600-1800 Q A) 1600-1800 Q
B) 400-600 Q B) 400-600 Q
C) 800-1000 Q C) 800-1000 Q
D) 1200-1400 Q D) 1200-1400 Q
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62) Which of the following power plants has 62) et & & f fee e 7 aweatas =09 o
practically zero cost of fuel transportation? IREE FT 97T ARTT gt 572
A) Gas turbine power plant

A) T TS qra< =

B) Thermal power plant B) a¥e ata =ie

C) ETSIeoiiae ara< Wi

)

)
C) Hydroelectric power plant
D) Diesel power plant D) Froet ata< = ie

63) In the phasor diagram of a Current Transformer 63) T #ie ZMHH (CT) ¥ T STTHUTH |, e WA
(CT), the phase angle is the angle between g & F = %1 U AT 2

A) the primary current and the secondary current A) TTtF Fie 07 B Fe F fiT F1 o™
B) the secondary voltage and the secondary current, B) fBaTa aieest i< g a® #ic % &= F7 W, 99

when reflected back to the primary current 5= Fie TatHT T3 § a9 Taterd gar g
C) the primary current and the secondary current, C) ITIf®* #ic T Tfias Fic ¥ i #1 W=, 5=
when reflected back to the primary current oo Fie TTatHT Fic ® a9 ataferd gt g

D) the primary voltage and the secondary voltage D) ST&f¥r= ieest 3 fEa o Toest & == &7 Ut

64) A diesel power station has fuel consumption 0.28 64) T e TTaT =99 ¥ <o+ #T 797 0.28 kg IF
kg per kWh, the calorific value of fuel being 10000 kWh g, S&+ =T Ferr<t @17 10000 kcal / kg g1 =T #ir

kcal/kg. The overall efficiency of the station is FT TAATFATE?

(Heat produced equivalent of 1 KWh =860 KCal) (1KWh & FHeT 3a+ a1 = 860 KCal)
A) 45.8% A) 45.8%

B) 53.2% B) 53.2%

C) 65.7% C) 65.7%

D) 30.7% D) 30.7%
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65) The State Election Commission has the power to 65) Y53 FATE ATANT o ATH THEFHT AT FL T ATTFHIT

conduct elections of: 2?7

A) Municipalities A) FETEgTierET

B) State Legislative Assemblies B) ¥r=7 farerm=erar
C) Governor C) Tr=guTer

D) Lok Sabha D IETE

66) One of the methods to make a single phase 66) fRRTeT ¥t TTFIT HIET HETF TTTawT AT 1 (ATl |

induction motor self-starting is to employ a single & T & HIETHI [ FIA & (010 BT FUTHST HT [HI 19T
capacitor for starting the motor. This capacitor is =TI 7% # & e v 78 Fafaer g d Er @

connected in series with AT e?

A) Compensating winding A) FHITHTET AT
B) Starting winding B) w=TfET arsfET

C) Rotor winding C) TeT arefeT

D) Running winding D) T AT =T

67) The figure of merit of a digital IC is defined as 67) % RfSes IC # Tvaar 1 sweT o o ¥

A) the amount of heat dissipation in a second A) TF TS § 79 & FT G137
B) the product of cross-sectional area of the IC and  B) IC {9 -FFTH ST 3T AET Tesiett TIea7 &7
average power dissipation MOTTHT

C) the ratio of propagation delay to average power C) SHTT § a1 31T e &SIl S9eqT FT AT

dissipation D) Y& § 3T S S Fastelt soeq T I[oer
D) the product of propagation delay and average
power dissipation
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68) Which of the following motors provides wide 68) i & & 1= AT Hrew aent #1 fFafa & ez ow A
range of speeds, depending upon the position of the T farega w1 Y& FZaAT8?

brushes?

A) Split phase motor A) Fte Tt HieT

B) Series AC motor B) #TisT AC HieT

C) Adjustable speed induction motor C) Te=ad T TTFH HIeT
D) Non-adjustable hysteresis motor D) ATA-UEseead R 19 JIex

69) At the Data Link layer of a computer network, 69) FET qa= % ST {oiF AU 9T HIsE T+ Rar=q
each device on the network has an address known as % 9T U= UZH AT & o o6 979 & ST SATA7 27

A) Port address A) T TZH
B) MAC address B) MAC Tz«
C) URL address C) URLTZH
D) Sequence address D) #rgw 12w

70) A DC shunt-wound generator running at 800 rpm 70) T DC sie-at= sveT 800 rpm 9 717 g 200 V
has generated emf of 200 V. Assuming flux per pole emf 3Ta= FTAT | ATE g ATHAHL =TT T FoTaF T q1T
is maintained constant, if the speed increases to 1500 F¥eve FATT TET ATAT &, 3T A% =T T 1500 rpm TF

rpm, the generated emf will be IE SATAT &, AT 37« emf T ZIAIT?
A) 175V A) 175V
B) 275V B) 275 V
C) 400 V C) 400 V
D) 375V D) 375 V
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71) With capabilities of accurate positioning and a fast 71) @&t T &t &7waTAl 3T 0= F7A, THA AT ol
response to starting, stopping and reversing, ¥ foTTUE a5 wfATHEAT F AT, UF UL gre e F forw

astepper motor is well suited for printers. I=ETALE H ATHA gl TF AL HIET T O T T AL
The rotational speed of a stepper motoris solely & HHTZATE
dependent on

A) Shaft load A) 9TH FTE IT

B) Magnitude of stator current B) e A= YaT8 % IHATI 9T
C) Polarity of stator current C) == o=@ varg #it gdhiaar @
D) Pulse frequency D) 97 g 9%

72) Which of the following addressing modes is 72) o & & Fi= ATUETHIE, 8051 UTZHIFET
employed in the 8051 microcontroller instruction % MOV RO, 40h & | T &7

MOV RO, 40h ?

A) Immediate addressing mode A) THRTz igfR T HIE

B) Register Indirect addressing mode B) IS 2T e TSR HIE
C) Direct addressing mode C) TTeiae T aIe

D) Indexed addressing mode D) 32T TSR HIE

73) The approximate value of shunt resistance 73) THiezFIT®1 (0- 50 mA) T (0 -5 A) | Fga4 %
required to convert an ammeter of range (0 - 50 mA) orT srae== o= gAY FT ATATAT T FT FET A
to that of (0 - 5 A)when its internal resistance is 99 Z&=T ATAF Tfarer 99 A 2

ohms is

A) 3Q A)3Q
B) 1Q B)1Q
C)4Q C)4Q
D)2Q D)2Q
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74) Apart from the ability to operate under both 74) 3WIvft 3fi¥ e AT A< FTLHT F AT FTH FI7 H

leading and lagging power factors, which among the &®aT % s&TaT, Ao T ¥ § Fi9 A7 UF AT qie
following is an advantage of a Synchronous motor? T ATA &7

A) Lower cost

A) FH AT
B) Constant speed B) e e
C) Self-starting C) Ao TTfeT
D) Can be used for high speed drives

D) 3 7t grzed & forw o s A 2

75) In fourth quadrant of operation of electrical drives, 75) =T ¥T2a & #=Ta9 & =T FTee |, DC AT+
what is the nature of operation of DC motor? HATAT FT TTATT FAT 8?2

A) Forward regeneration A) FiTaE e
B) Forward motoring B) wi¥aE AT
C) Reverse motoring C) fraw "t

D) Reverse regeneration D) fraet e

76) In a diesel engine, the governor controls the 76) T T 3519 § a7 17 Fa = F2ar 22
A) fuel flow rate A) a9 FT J4TE 3T

)
B) fuel temperature B) Sere =T ATIHTH
)
)

C) fuel pressure C) Taq #T ZaTa

D) fuel volume D ECEEIEIEL

77) Which of the following is the loopback address for 77) IPv4 & om0 Rs & & #1997 0% U9 87

Pv4?

A) 0.0.0.0 A) 0.0.0.0

B) 255.255.255.255 B) 255.255.255.255
C) 127.0.0.1 C) 127.0.0.1

D) 10.0.0.1

D) 10.0.0.1
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78) Which of the following is the main application of 78) 9fZ= Fireae TTATE FT T ITANRT HHTA T H | I

point-contact diodes? areg?

A) broadband communication A) T FHAFIH
B) DC or AC indicators B) AC oIt DC Ve
C) microwave circuits C) HT=#Taq dTHe

D) voltage regulators D) FTeest [eex

79) In a thermal power plant, a condenser is installed 79) ¥ 9Ta< wie |, =TT 91T FT o4 F2 & o0

to condense exhaust steam coming out of TF = w1 FRarSrar g s A 8 & w2t |9 Aeear
&?

A) Turbine A) =TT

B) Economizer B) THAMATZST

C) Super-heater C) T glex

D) Boiler D EIREES

80) The central tapping of the transformerin centre 80) H2¥ 20 F A A hHAT § Fea(F TOT FT ITINT

tapped full wave rectifier is used: 9 oo T strar 272

A) Toisolate the load from secondary winding A) T F=AT & A T TIF T & (10
B) To step up the voltage of the transformer B) TTETRIHT & ATeesl T AETH & (010

C) To step down the voltage of the transformer C) TTHHTHY & AToe T FH F7 o (o7

D) To make both the diodes to conduct during

D) #aTAe BT HIZHA & 1T 21 SIS Tl FAT(
alternate half cycles F & o

81) Which of the following has negative temperature 81) fFwferas & & e # IFETEET F71 TFTwF
coefficient of resistivity?

AT OTTF 572
A) Mercury A) a1
B) Silver B) =T
C) Electrolytes C) Toagezed
D)

Brass D) daer
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82) A few instructions in the instruction set of 8051 82) 8051 WEHFS@T * Zecau™ e H Fg
microcontroller takethe same shortest time to TF#m fAvaTled #¢ F oW, 99 7 797 o9 2
execute. What is the number of machine 39 %o # Avarlea F=x7 F oo qofi A &

cycles required to execute these instructions? TEAT AT gt AT ?
A) Four A) =TT

B) Three B) 7=

C) One C)w=

D) Two D) =t

83) In an analog clock, what is the angle formed 83) T# TATeT TET /, 5T 7:30 PM = 21, AT 12 ¥ %
between the mark or point of 12 and the hour hand #®T F THer AT &g 3T =< T 1A 5 A= FT F7 74T

when the timeis 7:30 PM? grars?

A) +270 degree A) +270 =T
B) -120 degree B) -120 f=3ft

C) -225 degree C) -225 f==fv

D) -135 degree D) -135 feifv

84) The Governor of a state in India can be removed 84) WA # 3T 5T F ST F THHF FIT TT=4T

by the: T (gem) STawarg?

A) President of India, based on recommendations of A) W= F TTgUfA 31T, T |AT FT reqerar aw
the Council of Ministers headed by the Prime wEatoae & A F e

Minister B) T &[T
B) Lok Sabha C) Teaw=t
C) Chief Minister D) =11 2t TTsF HAT 3T AT TAT

D) both Lok Sabha and Rajya Sabha
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85) The method employed for speed control of 3- 85) 3-%sT IXuT Hie< T 7 A==+ forw Mt &t

phase induction motor is FAHTE?

A) Fixed pole control A) e qrer =T

B) Linear control B) ferfvrae fRe=ror

C) Combination of Fixed pole and Linear control C) e Tret =T forfvre fRe=ror =1 s
D) Cascade control D) Fehe Ag=ror

86) String efficiency is used to measure the degree of 86) &1 ZeAAT FTIART FET F AT Eed & Iq=T &t F=9T
utilisation of thyristors connected in series or parallel. T 1o o {2 ST 2) sreafers =7 & R v
In actual practice, the value of string efficiency is ®, TR 2eq T 7 AT F I AT ErAT £

always

A) equal to 100 A) 100 F T

B) greater than one B) W & srfark

C) approaches to infinity C) &= §&T F F4
D) less than one D) UF | &9

87) A generating station has a connected load 120 87) T# SHfeT =9\ & 120 MW FT Fsee @IS § 3T
MW and it supplies maximum demand 60 MW. The &g 60 MW T SAT&ra® HT FT AT FLAT 5| TF a0+
number of units generated in a year is 48 x 107 kWh. 3ratiad I 48 x 107 kWh 81 ST =9 FT 7R
What will be the demand factor of generating station? %< (RATE Faex) FT1 2RT?

A) 0.9 A) 0.9
B) 2 B) 2
C)1 C)1
D) 0.5 D) 0.5


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

GET IT ON
Google Play

88) What is the minimum allowable number of layers 88) AutoCAD ITZT § #1F¥T T +qAdH AT+ HEAT FIT 572

in an AutoCAD drawing?
A) 2
) 0
) 1
)&

o O @

89) In 2017, a Constitutional bench of the Supreme
Court of India upheld right to privacy as an intrinsic
part of right to life and personal liberty. Which Article
of the Indian Constitution guarantees right to life and
personal liberty?

A) Article 23
B) Article 21
C) Article 24
D) Article 22

90) The Cascode amplifier consists of

A) a common emitter amplifier stage in series with a
common base amplifier stage (CE-CB)

B) a common emitter amplifier stage in series with a
common collector amplifier stage (CE-CC)

C) a common collector amplifier stage in series with
a common base amplifier stage (CC-CB)

D) a common base amplifier stage in series with a

common collector amplifier stage (CB-CC)

A) 2
B) 0
C) 1
D)5

89) 2017 ®, AT & HATg ~ATATAT il TF GIALITHF TS
T Aar & AfIF1T T Sitaq & ATTFC AT AT
TEAAAT & AAF AT & &9 § qHdq &am aea e
HTTETT T FI9 AT AT=E SOAT ST A HAT qAdAT
FtersTe F1 Atsg F#war g?

A) F=7 23
B) == 21
C) S =g 24
D) si=eiE 22

90) FEhIE TFIATHAY [Fo & § FAT 8?2

A) TF FIHT THT TR T % a1 Re # =1
T UF FAT I8 TFOATHAY =<7 (CE-CB)

B) TF FHA UL TFIe A< &1 % a7 faer 7 S[=1
T TF FHA Folded THATHa =27 (CE-CC)

C) UF FIHA Forae TR THAY =T % d1 e # =T
T TF FAT I8 TEOeA T w7 (CC-CB)

D) U FHA o€ T H I &= & a19 B # 2T gl
TF FIHT ForFe? THATHET &7 (CB-CC)
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91) The maximum demand on a power station is 600 91) =@ &= 9T ATTFAH 7T 600 MW &, AT AT

MW, the annual load factor is 60% and the capacity 1% 60% & 3T &AHAT FTF 45% | AT =ATe T R
factor is 45%. The reserve capacity of the plant is STHAT T B2

A) 200 MW A) 200 MW
B) 75 MW B) 75 MW
C) 800 MW C) 800 MW
D) 450 MW D) 450 MW
92) A drawing at a scale of 1:50 means that: 92) 1:50 % THTH (TheT) U¥ ST FT a9 2
A) 3cmin the drawing corresponds to one and ahalf  A) ETEITH 3 cm, T HeT F AATA BIAT &
metre

B) areafa= & T2 50 AT 2
C) I UF I(Ae, 150 e F au= ardr g
D) ET=TH 1 cm,150 cm & THTA 21T &

B) The drawing is 50 times the original

C) One unit in the drawing corresponds to 150 units

D) 1 cmin the drawing corresponds to 150 cm

93) A 250 V lamp has a total flux of 4000 lumens and 93) T 250 V ATt ST T FoT Forar 4000 FIHT & 7T
takes a current of 0.8 A. The approximate value of ZHH 0.8 AT A=A aTaT TaT A &I 8| HI T we H=e

mean spherical candle power per watt will be qiaT I Fie FT /T TTAT a1 21?2
A) 1.2 A) 1.2

B) 1.4 B) 1.4

C)1.6 C)1.6

D)

1.8 D) 1.8


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

GET IT ON
Google Play

94) Water for a hydroelectric power station is 94) T# ST A< T9M % oIT It 150 m & AT
obtained from a reservoir with a head of 150 m. What T# ReaTuz & foram Srar 81 If= It (F1=2T) T84T
will be the approximate electrical power generated 0.85 3% far=a zerar 0.92 & &, i =< uia Ffar= #iex

per hour per cubic meter of water if mechanical 3= g ATl far=ld oTf<F TR fora=t gMT?
(hydro) efficiency is 0.85 and electric efficiency

is 0.92?

A) 1150.7 kWh
B)
C)
D)

1470.0 kWh
945.7 kWh
1350.0 kWh

A) 1150.7 kWh
B) 1470.0 kWh
C) 945.7 kWh

D) 1350.0 kWh

95) When a conductor connected to an electrical 95) & % fa=[T AfHe & J=T UF Fede? a9 & &
circuit moves in a magnetic field, the direction of wfasiers, a1 INA g yaTE it fRen o o= T et

induced current depends upon

A) number of turns and length of the conductor
B) strength of the magnetic field

C) speed of movement of the conductor

D) direction of the magnetic field and direction of
motion of the conductor

96) A moving coil instrument gives a full-scale

deflection when a current of 20 mA flows through it

when a potential difference of 50 mV is applied

across its terminals. To convert it into a voltmeter to

measure from 0 V to 500 V, the series resistance to

be added is

A) 24985.8 O

B) 24997.5 Q

C) 25997.5 Q
)

D) 25110.5 Q

&?

A) T T FETS 3T AR THATAT T HEAT 9T

B) =@t &= =t 91f<F 9

C) F=FT F HATT I (A IT

D) Farehrar &= i {2 oY Feae #if T #7 Faraw

96) T el FETA ITFLUT T IHT 9T FHequr a1 8
S 20 mA FT Fa=[q 39H JaTiad 2, i 5@ 50 mV F1
oA SEe =T el § #RET T 21 T ((STFI) A
FeeH e | F2a- % oo S 0 V & 500 V 7% 97T T+,
ST S e s afaere #7872

A) 24985.8 O
B) 24997.5 Q
C) 25997.5
D) 25110.5 Q
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97) For thyristors, when I, is the final value of anode 97) aTaF=+ # fo1T, T |, TATE F¥e FT ATAH AT 2T
current, the spread time (t,) is the time taken by the 2, &I 2T2H (t,) T8 UAIE i ZTLT @9 aTT AR ZIAT S

anode current to rise from ST H | F70H Fal % d@7 % [0 grara?
A) 0to I, A) 0% I,

B) 0.1 tola B) 0.1 &l

C) 051 tok C)0.51, &1,

D)09htol D)0.91 &l

98) The sequence of componentsin the circuit 98) FiFIFe FEe «q (CFL) F Toraei<® SaTee %

of electronic ballasts of a Compact Fluorescent Lamp #f&e ® Tzl (FIFAIHw) FT FH 7 THTL 21T
(CFL) would be:

A) Rectifiers, Filter capacitor, DC to AC inverter, A) I, feeT Fusies, DC ¥ AC 34927, ﬁwagr
Lamp tube B) DC & AC Zae¥, Ifaewas, fhrev Fusftes, v =
B) DC to AC inverters, Rectifiers, Filter capacitor, C)WW,W,@WW, DC ¥ AC 23T
Lamp tube D) =¥7 =1, DC & AC 2=, fiheev Fumfte, Yt

C) Filter capacitor, Rectifiers, Lamp tube, DC to AC
inverter

D) Lamp tube, DC to AC inverter, Filter capacitor,
Rectifiers

99) The hexadecimal equivalent of 43 in decimal 99) =ffwer F=finm ffew & 43 =1 TFAREET

numbering system is TAEA(ZHTATAS) FT T2

A) B2 A) B2
B) 2B B) 2B
C) 3A C)3A
D)

A3 D) A3
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100) In the conduct of business of the
Indian Parliament, what does a 'Starred Question'
mean?

A) It is a question related to a subject matter
considered by the Chairman to be of urgent public
importance

B) It is a question that is answered orally on the floor
of the House

C) It is a question asked by opposition to the ruling
government

D) It is a question for which a written answer is

needed in the House
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100) AL THE F FTF & A Hi24T 7, =i Fa
T AT 7T 32

A) TE UF HATT g UF ST UH &0 |/ 2T & ST TATAS

ZTT AT ATAST(AF Hged T HIAT SATAT 5

B) TE UF TATA & &1 78 | Wites &9 397 f&ar
ST E

C) 7g U HaTa & Ford foret g1y a=memit e & 98T
ST

D) g U HaTe g o orw aa § s o s dr
AATFATS
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Question Paper No 51964_16

Answer Keys

1. A 31.A 61.B 91. A

2. C 32.C 62C 92. A

3. D 33D 63.C 93 C

4. A 34.C 64D 94 A

5 A 35.B 65.A 95 D

6. D 36.C 66.B 96. B

7. A 37.B 67.D 97. D

8. B 38.A 68.C 98 A

9. D 39.B 69.B 99. B

10.A 40.D 70.D 100.B

11.A 41.D 71.D

12.D 42.C 72.C

13.A 43.A 73.B

14.D 44.A 74.B

15.A 45.B 75.D

16.D 46. A 76.A

17.C 47.D 77.C

18.D 48.C 78.C

19.D 49.D 79.A

20.B 50.A 80.D

21.A 51.B 81.C

22.A 52.C 82.¢C

23.D 53.C 83.D

24.B 54.D 84.A

25.B 55.C 85.D

26.D 56.D 86.D

27.C 57.D 87.D

28.B 58.A 88.C

29.D 59.C 89.B

30.A 60.B 90.A
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